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Question Number : 1 Question Id : 2549896422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
An operating system is:

Options :

1. # a multimedia software
2. * an application software
3. ¥ a database software

4. ¥ a system software

Question Number : 1 Question Id : 2549896422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SifqRfe fReed o1 giar 82

Options :
1. % U Ao HIfSaT QioedaR

2. % Uoh Tichee IIUedaR



3. ¥ Ucp Scayd IIediR

4, ¢ Qo [O%eH Gt

Question Number : 2 Question Id : 2549896673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following memories or storages is volatile?

Options :

1. * Hard disk

2. * Floppy disk

3. * Magnetic tape

4. ¥ RAM

Question Number : 2 Question Id : 2549896673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % g1 fewn

2. % wAdt fSEen
3. ¥ ehrg ey

4. ¥ RAM

Question Number : 3 Question Id : 2549896788 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is the ability of the operating system to run more than one application at a time.

Options :

1. % Multitasking

2. ¥ Multiframing

3. ® Batch processing

4, ® Multiprocessing

Question Number : 3 Question Id : 2549896788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. « AcdiarfehT

Question Number : 4 Question Id : 2549896876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following does the CPU control?

Options :



1. % All output and processing
2. * Only external memory
3. #* Only numerical data

4. % Only logical operations

Question Number : 4 Question Id : 2549896876 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Gt 3r¥eye SR TR &
2. % hael arg] AHRI ol
3. ¥ hqet 3iifhen ST I

4. % had dlfolehe TURRAT ehl

Question Number : 5 Question Id : 2549897317 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Linux, a provides the required abstraction to hide low level hardware details to system or

application programs.

Options :
1. % compiler
2. ¥ kernel

3. * shell



4, #® system library

Question Number : 5 Question Id : 2549897317 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

fameg (Linux) ¥, e a1 Tettehe™ it o forg, 1 TR & greaR faaxr @t fum &g smasaes
YT e T g

Options :

1. ® g
2. ¥ FHAd

3. % g

4. % Qe agsy

Question Number : 6 Question Id : 2549897508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Header option is available in which tab of OpenOffice writer?

Options :

1. % Insert
2. ® Edit

3. ®* Format

4. % \iew

Question Number : 6 Question Id : 2549897508 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g SIthy g (OpenOffice writer) & ford 9 # U faehed HiGIE gidT 8?2

Options :
1. ¥ 35¢
2. % gfee

3. ® wiAe

4.% g

Question Number : 7 Question Id : 2549899343 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following printers would an architect be most likely to use to print large plans?

Options :

1. # Inkjet printer

2. # Laser printer

3. * Dot Matrix printer

4. ¥ Plotter

Question Number : 7 Question Id : 2549899343 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Zapoie iR



2. % dor iR
3. # gic-Afeay i

4. ¥ R

Question Number : 8 Question Id : 2549899364 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A' "occurs when a read/write head makes contact with the hard disk's surface or with

particles on its surface.

Options :

1. % system crash
2. ¥ head crash

3. # network crash

4. % CPU crash

Question Number : 8 Question Id : 2549899364 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ %A b
2. ¥ gEh

3. ¥ Acqch hal

4. % CPU char



Question Number : 9 Question Id : 25498911598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Permanent instructions that the computer uses when it is turned on and that CANNOT be changed

by other instructions are contained in a:

Options :
1. % ROM
2. #¥ RAM
3. * Pen Drive

4. # DVD

Question Number : 9 Question Id : 25498911598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ ROM

2. % RAM

3. % U9 grsg

4. % DVD

Question Number : 10 Question Id : 25498918688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following commands when typed into the Start search box opens Add/Remove

Programs or Uninstall a Program in Windows 7?

Options :

1. # programsfeature
2. ¥ appwiz.cpl

3. * winfeatures

4. # winfeatures.open

Question Number : 10 Question Id : 25498918688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % programsfeature
2. ¥ appwiz.cpl

3. ¥ winfeatures

4. % winfeatures.open

Question Number : 11 Question Id : 25498923836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A laser printeruses ___ to create images on a printed page.
Options:

1.



# ribbon
2. * pins
3. ¥ toner

4. % lens

Question Number : 11 Question Id : 25498923836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HeUT Ul R Bfeai a9 & forg dsr fiier gr 1 IuAT fohat ST |

Options :
1. ¥ Re=
2. % fUq
3. ¥ IR

4. % dg

Question Number : 12 Question Id : 25498929845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following bar code scanning method uses the technique of converting light signals

to electric signals?

Options:
1. # Laser photo detector
2. # Photodiode

3. ¥ Charge-coupled device (CCD)



4. # Rotating line camera

Question Number : 12 Question Id : 25498929845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ SR Wil fedaR

2. ¥ mict SIS

3. ¢ grei-shucs feargd (CCD)

4. % QT Arga hur

Question Number : 13 Question Id : 25498930034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'Handwriting Recognition System' belongs to which trait of biometric system?

Options:

1. % Behavioral
2. % Logical

3. * Physiological

4. # Biological

Question Number : 13 Question Id : 25498930034 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'gexrgfeT Rapfee e’ e ed & fore faivar @ defda @2
Options :

1. ¥ IR

2. % dqifchen

3. ¥ ¥R

4. % Sfden

Question Number : 14 Question Id : 25498931056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a web mail provider?

Options :

1. # Kloser

2. ¥ Gmail

3. # CCSearch

4. % Yandex

Question Number : 14 Question Id : 25498931056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * Kloser



2. ¥ Gmail
3. % CC Search

4. % Yandex

Question Number : 15 Question Id : 25498931388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a feature of Universal Serial Bus (USB)?

Options :

1. % Manual configuration
2. * Plug and play

3. # Easy device connection

4, # Itis a common interface for computer devices

Question Number : 15 Question Id : 25498931388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ffafEa # & o O gfRede diRac a9 (USB) &l fastydr =&l 82

Options :

1. ¢ A7 fo=mg

2. % @ 3R AT

3. ¥ IJUHRUI I SATET HGIST

4, % gg THhugex IUGUT o oIy Tep AT Se3thd



Question Number : 16 Question Id : 2549898172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

refers to hacking or deception that imitates a software program with the intentions of

bypassing security measures.

Options :

1. % Virus

2. ¥ Spoofing
3. * Access

4. * Firewall

Question Number : 16 Question Id : 2549898172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % dIY
2. ¢ Wtk
3. ¥ gy

4. % HOard

Question Number : 17 Question Id : 2549899453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Higher of a printer means higher images.

Options:

1. # size; quality

2. ¥ resolution; quality
3. ¥ price; quality

4. % resolution; size

Question Number : 17 Question Id : 2549899453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ 3fThR, ToTa=<

2. ¢ RSiege™ (Resolution), Toret

3. ¥ dhHd, qurgsn

4. ¥ RSfiege™, SMaR

Question Number : 18 Question Id : 2549899474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following domain names is most commonly used by educational institutions?

Options:
1. ¥ .net

2. % .org



3. % .com

4.+ edu

Question Number : 18 Question Id : 2549899474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. # .net
2. % .org
3. % .com

4. % .edu

Question Number : 19 Question Id : 2549899580 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to web designing, the file format CSS stands for?

Options :

1. % Computer Style Sheet
2. # Compact Style Sheet
3. % Cascading Style Sheet

4. ® Computer Storage Style

Question Number : 19 Question Id : 2549899580 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o fSSTTST & Hef H, wiget Uty CSS ot e 37 872

Options :
1. # Computer Style Sheet (Fer r3d 2fie)
2. ®# Compact Style Sheet (epiiae w5 ¢fie)

3. ¥ Cascading Style Sheet (ch&hfeT wgd fie)

4. % Computer Storage Style (FeR TR WIg)

Question Number : 20 Question Id : 25498910789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following hardware devices helps in the connection of multiple devices in same LAN?

Options :

1. ¥ Repeater

2. ¥ Hub

3. ¥ Access Point

4. % Modem

Question Number : 20 Question Id : 25498910789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
= o @ o9 a1 gTSawR fSa1sy Uah &1 LAN H s f3a1s9 & e § Heg ohedl 87

Options:

1. % Rdfiez



2. ¥ g9
3. % ggdyg uise

4, ¥ #iH

Question Number : 21 Question Id : 25498911252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the area covered by a Local Area Network?

Options :

1. % Up to 1000 km
2. ¥ Upto 10 km
3. # Up to 100 km

4. # Up to 10000 km

Question Number : 21 Question Id : 25498911252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
tehed TRAT Aeach fohd & & T el 87

Options :

1. % 1000 km T
2. ¥ 10 km d&
3. # 100 km den

4. # 10000 km d&



Question Number : 22 Question Id : 25498913393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a basic audio file extension supported by Windows OS?

Options :
1. % BAT
2. % GIF
3. % .DIF

4.+ AU

Question Number : 22 Question Id : 25498913393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
= & @ ol T1 o gfAard sifeat wise TedsE @ St Windows OS gRT 9afdd 8?2

Options:
1. % BAT
2. ®# GIF
3. # DIF

4. v AU

Question Number : 23 Question Id : 25498913458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a lossless data compression method?

Options :



1. # Run length
2. * Huffman
3. * Lampel-Ziv

4. ¢ Transform coding

Question Number : 23 Question Id : 25498913458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * Run length
2. % Huffman
3. # Lampel-Ziv

4. + Transform coding

Question Number : 24 Question Id : 25498913950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to protocols, MIME stands for:

Options :

1. % Multipurpose Internet Mail Extensions
2. * Multipurpose Internet Mail Email

3. ¥ Multipurpose International Mail Entity

4. # Multipurpose International Mail End



Question Number : 24 Question Id : 25498913950 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Uielehict o TaH |, MIME &l quiey T 8?2

Options:
1. ¢ AEIUUS §exe Ao Yaaes™ (Multipurpose Internet Mail Extensions)

2. ¥ AU 3e¥-e Ad 38 (Multipurpose Internet Mail Email)

3. ¥ AU e Ad Ufedt (Multipurpose International Mail Entity)

4. ¥ AUUS e Ao 38 (Multipurpose International Mail End)

Question Number : 25 Question Id : 25498918465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is @ communication protocol that is used to create a direct connection between two

communicating devices

Options:
1.+ PPP
2. % SMTP
3. ®¥ FTP

4. % SFTP

Question Number : 25 Question Id : 25498918465 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :
1. PPP
2. ®* SMTP
3. % FTP

4. % SFTP

Question Number : 26 Question Id : 25498918560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
GPU stands for?

Options :

1. % Graphics Processing Unit
2. * Game Processing Unit

3. # Graphics Primary Unit

4. ¥ Game Priliminary Unit

Question Number : 26 Question Id : 25498918560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
GPU 1 guf =4 &1 8?2

Options :

1. ¢ Graphics Processing Unit (I1ftherd TiafET gfae)



2. ® Game Processing Unit (T T gfAe)
3. ¥ Graphics Primary Unit (Iftherd urga’t gfAe)

4. ¥ Game Priliminary Unit (74 frefiff=:t gfae)

Question Number : 27 Question Id : 25498922019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
There are two variants of Triple DES known as:

Options :

1. # 3-key Triple DES (3TDES) and 8-key Triple DES (8TDES)
2. # 3-key Triple DES (3TDES) and 7-key Triple DES (7TDES)
3. # 3-key Triple DES (3TDES) and 5-key Triple DES (5TDES)

4.+ 3-key Triple DES (3TDES) and 2-key Triple DES (2TDES)

Question Number : 27 Question Id : 25498922019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
feuet Sisuw (DES) & ) v & S5 el ST 2l

Options :
1. % 3-fi et S<ew (3TDES) 3R 8-t feuet Sisud (8TDES)
2. % 3.4 feuet disug (3TDES) iR 7-6 feuet €uw (7TDES)

3. # 3-ht feuer S8QH (3TDES) 3R 5-ht feuer S5ua (5TDES)

4, « 3-f feuer S5ua (3TDES) 3R 2-dt fuat ¥ud (2TDES)



Question Number : 28 Question Id : 25498924171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a File Management system call used in Linux?

Options :

1. * open()
2. ¥ wait()
3. * close()

4. * write()

Question Number : 28 Question Id : 25498924171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. * open()

2. ¥ wait()

3. * close()

4. % write()

Question Number : 29 Question Id : 25498925395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Off line UPS passes

Options :



1. # the input AC to the output sockets if the DC power is available
2. # the input DC to the output sockets if the AC power is available
3. ¥ the input AC to the output sockets if the AC power is available

4. % the input DC to the output sockets if the DC power is available

Question Number : 29 Question Id : 25498925395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

STtherrs g0t q4. (UPS) UTg a1 gl

Options :

1. ¥ DC UieR IUeY g TR 3AT3CYC Fiche oh feig AC ot
2. % AC UieR Iucted] 14 IR DC H 313CYL Hiche hl

3. ¢ AC UlaR IueTey g1 UR 3M13eYC Hiche o felg AC it

4. % DC Ufar Iuersy - IR DC 3113eYC Hiche i

Question Number : 30 Question Id : 25498925427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Rt ¥ § e St urafie A9t (RAM) # 384T 81

Options :
1. ® g I”RY

2. % fopt aRRY



¥ LiTSe IRy

Question Number : 30 Question Id : 25498925427 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The stays permanently in the primary memory (RAM) of the computer.

Options :

1. #* boot virus

2. * macro virus

3. % computer worm

4. ¥ resident virus

Question Number : 31 Question Id : 2549896406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a valid CPU register?

Options :

1. * Program Counter
2. ¥ Accumulator

3. ¥ DMA Controller

4. * Instruction Register

Question Number : 31 Question Id : 2549896406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
fAefafead # & s=-41, ag CPU S =16 82

Options :

1. ® UMY hrdex

2. % IOrIeh (TRIeIER)
3. ¥ DMA ahgleR

4, ¥ 3 Ao

Question Number : 32 Question Id : 2549896758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the given website address 'https://www.jaav.com/full-form’, which part parts represents domain

name?

Options :

1. % www

2. # https://
3. ¥ jaav.com

4. * full-form

Question Number : 32 Question Id : 2549896758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
f&Q g de@rge ud 'https://www.jaav.com/full-form' &, @l AT 9RT SR 9 1 ufafAfda sear g?

Options:

1. % www



2. ¥ https://
3. ¥ jaav.com

4. % full-form

Question Number : 33 Question Id : 2549897222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Google g3d # 4 41 @iel TR fAfdE @rd & @i arelt wigel st dafHd sedr g?

Options :
1. % 39

2. ¢ 3R
3. % dIgu

4, ¥ ]IEs

Question Number : 33 Question Id : 2549897222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which search operator in Google drive refers to files owned by specified account?

Options :
1. ®* Name
2. ¥ Owner
3. * Type

4. * Find



Question Number : 34 Question Id : 2549897976 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Patient Monitoring System is a computer application in which of the following category?

Options :

1. ¥ Healthcare
2. ¥ Banking

3. # Insurance

4. * Education

Question Number : 34 Question Id : 2549897976 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Aift AR goTett (Patient Monitoring System) fA=fafea & @ forg sivft & g dhger Tweitcher 82

Options:
1. ¢ W e
2. % df
3. % &

4. % fyer

Question Number : 35 Question Id : 25498910446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, we can change the case of selected text in a document by clicking a single



button on the Home tab called

Options:

1. % Change Case
2. % Grow Font
3. ¥ Shrink Font

4, # Case Change

Question Number : 35 Question Id : 25498910446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, gHgH T W =TH% Uch ¢ UR faeTeh ohech fohdt S&TdSt & IUfd ¢ae & &g ohi Sgal
Yehd 81

Options :

1. v IS g

2. % 7} thfve

3. # {3 tive

4. % Hg I

Question Number : 36 Question Id : 25498910681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following icon of MS-Word 2019 represents which type of break in a document?



Options :

1. % Text wrapping
2. % Column

3. * Page

4. * Next page

Question Number : 36 Question Id : 25498910681 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 a1 fAmfaf@a smger fohd UehR & S&dTast sieh ohl gerfar 82

Options :

1.« doe AU

2. ¥ piaq

3. % 09

4. % Joe U

Question Number : 37 Question Id : 25498911055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used to change the default font size for all or selected

text in MS-Word 2019?

Options:



1. ¢ Ctrl Shift + Alt + S
2. * Ctrl + Shift + S + arrow keys + Enter
3. ¥ Ctrl + Shift + Enter

4. # Ctrl + Shift + P and arrow keys + Enter

Question Number : 37 Question Id : 25498911055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & gft a1 Tafaq ¢ere & oIt fSthice thiwe SR & siga+ & foig Amfeifea & 9 forg fieats
RMféehe T IUTNT fehaT STTdT 872

Options :

1.« Ctrl Shift + Alt + S

2. #® Ctrl + Shift + S + arrow keys + Enter
3. ® Ctrl + Shift + Enter

4. *# Ctrl + Shift + P and arrow keys + Enter

Question Number : 38 Question Id : 25498911076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
How can you select your default font in MS-Word 2019?

Options :

1. ¢ Select the Font Dialog Box Launcher on Home Tab, then select your font and select Set As

Default.

2. * No option to set as default



3. ¥ By clicking font group then click on set as default

4. * Simply choose the font every time you want to apply

Question Number : 38 Question Id : 25498911076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 #, 3119 3791 fSthiee thive el T Tehd 872

Options :

1. ¥ gIH 39 IR WhiwC ST SifeRd di=aR T, 31U Wi ohl T hich 3R fSWieT & ®U # T A g TIF Hhich

2. % fthleT U H YT e & fog hls faehey 781 &

3. ¥ i< 94g W ik o fShiee & T H I WR fRieh ahvch

4. ¥ gdeh IR TN ohi o folg Uk IR Thi~e TR

Question Number : 39 Question Id : 25498911847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 #, SRt @fI o 3id & U WY at o 9197 ST TehdT &1

Options :
1. ¢ UldcH
2. % ficg
3. % g9

4, % &R

Question Number : 39 Question Id : 25498911847 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2019, the Add Space after paragraph spacing can be measured in .

Options :
1. % points
2. % pits
3. ¥ inches

4. % centimetres

Question Number : 40 Question Id : 25498911898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options displays tracked changes with a red line in the margin while using

the Tracking changes option in MS-Word 2019?

Options :

1. % Simple Markup
2. * All Markup

3. #* Original

4. # No Markup

Question Number : 40 Question Id : 25498911898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & ¢fehT aRad= faehed o1 ITaT aia 7d F-feilRad & € ol I1 fadheq HIfSH & Tt 3@1 &
1Y ¢k fhg g gRRerdHT ent UafRid envdl 872



Options :

1. ¢ ffue Arhag
2. ¥ 3T AT
3. ® R

4. % 9y grharg

Question Number : 41 Question Id : 25498925226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
With reference to networks, OSI stands for:

Options :

1. * Open System Interface

2. ¥ Qut System Interface

3. ¥ Open System Interconnection

4. # Qut System Interconnection

Question Number : 41 Question Id : 25498925226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Acah & G |, OSI &1 yufey w1 82

Options:
1. ¥ Open System Interface (3o f&cH 3ethy)
2. ¥ Out System Interface (3713¢ R%eH )

3. ¢ Open System Interconnection (31U A%eH gexpiaM)



4. ¥ Qut System Interconnection (3113< f%eH gexhar)

Question Number : 42 Question Id : 25498933797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The Guest account on the FTP server can be assigned with a username and that is required

to access data on it.

Options :

1. # ID card

2. * [P address
3. ¥ web address

4, ¥ password

Question Number : 42 Question Id : 25498933797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
FTP HeR T TREITERISE oh ol Yeh Toikad 3R RuiRa &= Gorar g, ST TR ST & Tay & fog srasaes gl

Options :

1. ¥ ID &S
2. % [PUgH
3. % q9 ey

4. ¥ yrgas

Question Number : 43 Question Id : 25498938415 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Development of was initiated by Tim Berners-Lee at CERN in 1989.

Options :
1. % TCP/IP
2. ®# SMTP
3. % HTTP

4. ¥ WWW

Question Number : 43 Question Id : 25498938415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
1989 & CERN # o s9d-<ft 3 ol foRfAd ohet oht [zarTd ot ot

Options :
1. % TCP/IP
2. % SMTP
3. % HTTP

4. ¥ WWW

Question Number : 44 Question Id : 25498941474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, enter Jan into cell A1. Select cell A1 and drag the fill handle down by five rows. Cell A3

now contains

Options :



1. % Apr
2. * Feb
3. % Jan

4. % Mar

Question Number : 44 Question Id : 25498941474 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel &, 91 A1 & Jan TGex e | et A1 T T e 3R fthel g8 ol uig 3 - Wi | I A3 F 39
g

Options :
1. % Apr
2. * Feb
3. # Jan

4.+ Mar

Question Number : 45 Question Id : 25498941483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, if cell B4 contains 60, then formula =LEN(B4) computes .

Options :



4. % 60

Question Number : 45 Question Id : 25498941483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel &, &< B4 # 60 €, @ BiHeT =LEN(B4) gRT 0T & TR T GRomH ghml

Options :
1.%0
2.9 2
3.%6

4. % 60

Question Number : 46 Question Id : 25498941492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, refers to a value in cell C3 of Sheet2.

Options :

1. % Sheet2!C3
2. # Sheet2$C3
3. # Sheet2#C3

4. % Sheet2:C3

Question Number : 46 Question Id : 25498941492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
MS-Excel H, 2ffe2 & a1 C3 & Uah = ) Jefolfa exar g1

Options :

1. % Sheet2!C3
2. ¥ Sheet2$C3
3. ¥ Sheet2#C3

4. * Sheet2:C3

Question Number : 47 Question Id : 25498941506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Suppose you are in cell B1. Start recording a macro in relative reference mode, select cell B2 and

complete the macro. Move to cell P4 and execute the macro. The macro will run in cell

Options :
1. % B1
2. ¥ B2
3. % P4

4. % P5

Question Number : 47 Question Id : 25498941506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A AIfSg oy T« B1 A €1 Reifea Wa Ale # At Repls o1 S[F &2, Tl B2 T T8 o2 3R Ahl ohl G 1|
9l P4 TR SI1G 3R Achl <t TerdTeRIE o | 39 AT #, Achl &l @ Tt H 4 git?

Options :



1. % B1
2.¥ B2
3. % P4

4. % P5

Question Number : 48 Question Id : 25498941513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

MS-Excel allow you to enter a single formula in one cell, and then that formula will automatically

expand to the rest of the column by itself. When is this statement true?

Options:

1. % Always

2. % Never

3. ¥ When calculated columns are used

4. % Only in the case of the last column of the table

Question Number : 48 Question Id : 25498941513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS-Excel 3Tuehl Ueh el H Yeh il &of ehint chl AT &aT 8, 3R fhr ag wiHen Wearfeld ®U ¥ Y dhiaH |
foreaTiRa gt SITQwTT | I8 Y e I 872

Options :
1. % gasm

2. % poft 98f



3. ¥ 59 URerfold ehieT® T ST fohar ST @

4, % el el & HfdH et & daog |

Question Number : 49 Question Id : 25498941522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, a chart provides interactive filtering controls on the chart so that we can quickly

analyse a subset of the data.

Options:
1. # bubble
2. % column
3. ¢ pivot

4. * surface

Question Number : 49 Question Id : 25498941522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel H, T1E, A IR 3 d fThee R shgled UG ohidl & [STad g4 ST o dade ol Lftordr 9 fasawor
R GH|

Options :

1. % ddcl

2. ¥ qpiaq

3. ¢ Urgale

4, % gThyg



Question Number : 50 Question Id : 25498941531 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut key is used to insert a page break in MS-Word 2016

document?

Options :

1. # Alt + Enter
2. * Shift + Enter
3. ¢ Ctrl + Enter

4, % Ctrl+F9

Question Number : 50 Question Id : 25498941531 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 ZITasT & UST sich STei o forg fAmfeifea & & fohg hiatS iiane Foft ot IUTNT fohaT STt 872

Options :

1. % Alt + Enter
2. # Shift + Enter
3. ¢ Ctrl + Enter

4. % Ctrl+F9

Question Number : 51 Question Id : 25498941540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The default zoom percentage in MS-Excel is

Options:
1. % 50%
2. ®# 75%
3. ¥ 100%

4. % 125%

Question Number : 51 Question Id : 25498941540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel # fethiee S gfdsrd gidr g1

Options :
1. % 50%
2. % 75%
3. ¥ 100%

4. % 125%

Question Number : 52 Question Id : 25498941546 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The MS-Excel backstage view is provided by the tab.

Options :
1. # Data

2. ¥ File

3.



% Page Layout

4. % \iew

Question Number : 52 Question Id : 25498941546 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel der&est &g, A # & fhg o # Higle gtar 82

Options :
1. % 3
2. ¥ ThIscl
3. ¥ O deMse
4. % g
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Question Number : 53 Question Id : 25498921152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
U8 R 'SfiaH <l o3 sTa=gehdredl’ i gfd sed 81 mfeifad & 9 o 3+ nfae =gt 82

Options :

1. # RMAERIh BHT
2. % @M & fag e
3. ¥ STH & fag 1

4. % AR & foTT cTehat

Question Number : 54 Question Id : 25498921153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g&1 Geita u1forgi o foig fohd UehR Tgre gid 8?2

Options :

1. % 3 ga1 Q ShIed S8 3MTEs od &

2. ¥ 3 I 9ig @4 & foTu arsil g1 USH hed g
3. % g Bheq 9 WY §491d &1

4. % 3 g o oh foru SifeiST a1 ST ad &1

Question Number : 55 Question Id : 25498921154 Question Type : MCQ Option Shuffling : Yes
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Options:

1. # acdbe
2. % dcabe
3. * adceb

4.+ dacbe
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Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Trees

When we think of trees, we think of their cool and refreshing shade, of children playing around
them and of tired travellers resting under them. Trees give us fruit to eat and wood to burn. We
also use wood for building houses and furniture.

Trees not only supply us with many of the conveniences of our daily life, but they do much more.
They support the life of living things. They help to replace oxygen that gets used up when living
things breathe. Oxygen is constantly used up and turned into carbon dioxide when animals
breathe and things burn. The green leaves of trees, in fact, of all plants, absorb carbon dioxide
from the air and, with the help of the sunlight, break it up into carbon and oxygen. Carbon is used
to make starch and oxygen is released into the atmosphere.

Trees also cause rainfall. The leaves of trees breathe out a lot of water vapour into the
atmosphere, which helps to make the air cool. The cool air over forests cools the rain clouds and
helps to cause the rain. That is why rainfall over forest areas is greater than other places. Trees
thus play a part in giving us another necessity of life- water.

Trees prevent the surface soil of earth being washed away by showers. Our earth has a covering of
fine soil on the surface and under the soil, lie rocks of various kinds. The surface soil supports the
life of plants, which, in turn, supply the food that animals need. Nature takes millions of years to
form soil one inch thick. But, a single heavy shower sometimes washes off a good part of the
surface soil on a bare hillside. This will not happen in places where there are plenty of trees. Since

trees stop the free flow of water and their roots hold the soil together, they prevent the soil being



washed away. The soil in forests absorbs water very easily and, in this way, trees also help to

prevent sudden floods.

Sub questions

Question Number : 53 Question Id : 25498921152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Trees give us many of the ‘conveniences of life’. Which of the following is NOT provided by trees?

Options :

1. * Refreshing shade
2. * Fruit to eat

3. % Gas to burn

4. % Wood for furniture
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Correct Marks : 1 Wrong Marks : 0
In what way do trees support the life of living things?

Options :

1. * They take carbon dioxide from the air.
2. ¥ They give us fresh air to breathe.

3. * They make starch from carbon.

4. ® They use up oxygen for breathing.

Question Number : 55 Question Id : 25498921154 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

How do trees replace oxygen in the atmosphere? Find the correct sequence.
a. Trees absorb carbon dioxide from the atmosphere.

b. The carbon is used to make starch.

c. With the help of sunlight, they separate carbon and oxygen.

d. Oxygen is turned into carbon dioxide when animals breathe.

e. Oxygen is released into the atmosphere.

Options:

1. # acdbe
2. % dcabe
3. #* adceb

4. % dacbe
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The air under a tree is cooler than the air inside a building because

Options :

1. # trees cause rainfall

2. ¥ trees breathe out water vapour into the atmosphere
3. ¥ the forest areas have more rainfall

4. ® the cool air over forests cools the clouds

Question Number : 57 Question Id : 25498921156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Trees prevent the surface soil from being washed away by

Options:

1. % holding the soil through their roots
2. ¥ letting the water flow away freely
3. #* forming new soil in several years

4. % absorbing water in their leaves
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The ratio of the ages of Tina and Rakesh is 9: 10. Ten years ago, the ratio of their ages was 4 : 5.

What is the present age of Rakesh?

Options :

1. * 25years
2. % 20 years
3. ®# 30vyears

4. % 24 years
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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The total marks obtained by a student in Physics, Chemistry and Mathematics together are 120
more than the marks obtained by him in Chemistry. What are the average marks obtained by him

in Physics and Mathematics together?

Options :
1.+ 60
2. % 120
3. % 40

4. * 180

Question Number : 59 Question Id : 25498928809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.« 60

5 % 120

3 % 40

4 % 180

Question Number : 60 Question Id : 25498928890 Question Type : MCQ Option Shuffling : Yes
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Select the option that can replace the question mark (?) in the given equation.
(3024 + 189)% + (684 + 19)?] = (2)? + 459

Options :

1. % -27

2.9¥ -29

3. % 31

4. % 841

Question Number : 60 Question Id : 25498928890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1
[(3924 = 189)7 + (684 = 19)2] _ (7)? + 459
Options :

| =27

3 % 31

4 % 841
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Select the number from among the given options that can replace the question mark (?) in the
following series

17,19,42,132,7, 2690

Options :
1. % 532
2. % 544
3. % 528

4. ¥ 536

Question Number : 61 Question Id : 25498929023 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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| % 532

> % 544

5 % 528
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28 men can complete a piece of work in 15 days and 15 women can complete the same piece of
work in 24 days. What is the ratio of the amount of work done by 30 men in 1 day to the amount of

work done by 18 women in 1 day?

Options :
1. % 21:50
2. % 15:21
3.%7:3

4, % 10:7

Question Number : 62 Question Id : 25498929047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % 21:50
5 % 15 : 21
3_@5?13

4w 10 : 7
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What is the value of the given expression?

70% of = of 2400 + 3 — 15
Options :

1.9 405

2. % 412125

3. % 27

4. % 30

Question Number : 63 Question Id : 25498929088 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
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Options:
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4 % 30
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Options :
1. % Descant

2. # Descent



3. # Derive

4. * Derrick

Question Number : 64 Question Id : 25498910052 Question Type : MCQ Option Shuffling : Yes
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Which of the following words will come third if they are arranged as per their order in an English
dictionary?

Options :

1. % Descant
2. * Descent
3. #* Derive

4. % Derrick

Question Number : 65 Question Id : 25498919655 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Select the option in which the words share the same relationship as that shared by the given set of

words.

Researcher : Historian : Scholar

Options:

1. % Epic : Novel : Book

2. % Teacher : Graduate : Poet

3. * Teacher : Professor : Lecturer

4. % History : Story : Book

Question Number : 66 Question Id : 25498919752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Ravi's brother is 3 years senior to him. His father was 28 years of age when his sister was born
while his mother was 26 years of age when he was born. If his sister was 4 years of age when his
brother was born, what were the ages of Ravi's father and mother, respectively, when his brother

was born?

Options :

1. % 32 years, 23 years
2. % 32 years, 20 years
3. * 35years, 20 years

4. * 35years, 21 years
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Options:

1. 329y, 23 a9
2. % 3299, 20 99
3. ¥ 359, 20 99

4. % 359 21 g9
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Options :
1. % q€

2. % g
3. % fommma

4, ¥ A
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :

1. % Ruin

2. * Demolish
3. * Destroy

4. ¥ Mend

Question Number : 68 Question Id : 25498919849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I R 2reg U 71U & o9 @ i forddt yehR @ o1ug | Tefed &1 3R Ueh 399 31T 8| dg STHTTd Q18 T
HIfSg|

Options :
1. ® TIRIES
2. % 3@l
3. % Tgdglec

4. AEET

Question Number : 68 Question Id : 25498919849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :



1. #* Grunt
2. # Roar
3. # Chirp

4. % Lamb
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Options:
1. % 11
2.9 14
3. % 16

4. % 17
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Find the minimum number of straight lines required to make the given figure.

A N
‘_R_‘ﬂ_ !
Q p
%
Options:
1. % 11
2.9 14
3. % 16
4, * 17
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In which year did disinvestment start in public enterprises?

Options :

1. % 1990-91
2.4 1991-92
3. ¥ 1992-93

4. % 1993-94
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Options:

1. % 1990-91
2.9 1991-92
3. ¥ 1992-93

4. % 1993-94
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Options :
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The words 'Satyameva Jayate' in the State Emblem of India have been adopted from which of the

following?

Options :

1. ¥ Mundaka Upanishad
2. # Brahma Upanishad

3. # Mudgala Upanishad

4. * Maitreyi Upanishad
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1. ¥ pedled

2. % dgiciiard



3. ® Meh

4, ¥ fohehe
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With which of the following sports is the term ‘duck’ associated?

Options :

1. * Soccer

2. % Volleyball
3. * Golf

4. + Cricket
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Read the given assertion and reason and select the most appropriate option with respect to them.

Assertion (A): Graben is a major relief feature resulting from faulting activities; it is, in fact, a valley

or narrow trough bounded by one or more parallel faults.

Reason (R): A block of Earth’s crust may be relatively raised or lowered between more or less
parallel faults. The lower part known as 'graben'is formed due to the subsidence of the middle

part between two normal faults.

Options :

1.+ Both A and R are individually true and R is the correct explanation of A

2. # Both A and R are individually true but R is not the correct explanation of A
3. # Alistrue but R is false

4. * Ais false but R is true
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3. ® JoHIfa

4. % gATST Jar
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The Late Girilal Jain was a noted figure in which of the following fields?

Options :

1. % Literature
2. ¥ Journalism
3. #* Politics

4. * Social Service
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The term ‘Green Revolution’ has been used to indicate higher production through:

Options :

1. #* creation of grasslands

2. * planting of more trees

3. ¥ creation of gardens in urban areas

4. ¥ enhanced agricultural productivity per hectare
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responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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The greenhouse effect is the process by which radiation from atmosphere warms the planet
surface to a temperature above what it would be without this atmosphere. Radiatively
active gases in atmosphere radiate energy in all directions. Part of this radiation is directed
towards the surface thus warming it. The intensity of downward radiation that is the
strength of the greenhouse effect depends on the amount of greenhouse gases that the
atmosphere contains. The temperature rises until the intensity of upward radiation from
the surface thus cooling it balances the downward flow of energy. Natural greenhouse
effect of Earth is critical to supporting life and initially was a precursor to life moving out of
the ocean onto land. Human activities mainly the burning of fossil fuels and clear cutting of
forests have increased the greenhouse effect and caused global warming. The existence of
the greenhouse effect while not named as such was proposed by Joseph Fourier. The
argument and the evidence were further strengthened by Claude Pouillet. John Tyndall was
the first to measure the infrared absorption and emission of various gases and vapours. He
showed that the effect was due to a very small proportion of the atmosphere with the main
gases having no effect and was largely due to water vapour though small percentages of
hydrocarbons and carbon dioxide had a significant effect. The effect was more fully
quantified by Svante Arrhenius who made the first quantitative prediction of global
warming due to a hypothetical doubling of atmospheric carbon dioxide. Earth receives
energy from the Sun in the form of ultraviolet and near infrared radiation. About one third
of the incoming solar energy is reflected back to the space by the atmosphere and clouds
and only nineteen percent is absorbed by the atmosphere and clouds. Most of the remaining
energy is absorbed at the surface of Earth. The surface of Earth radiates at wavelengths that
are much longer than the wavelengths that were absorbed because it is colder than the Sun.
Most of this thermal radiation is absorbed by the atmosphere and warms it. The atmosphere
also gains heat by sensible and latent heat fluxes from the surface. The atmosphere radiates
energy both upwards and downwards. The part radiated downwards is absorbed by the
surface of Earth. This leads to a higher equilibrium temperature than if the atmosphere did
not radiate. Strengthening of the greenhouse effect through human activities is known as
the enhanced greenhouse effect. This increase in radiative forcing from human activity has

been observed directly and is attributable mainly to increased atmospheric carbon dioxide



levels. The greenhouse effect of the atmosphere is named by analogy to greenhouses which
become warmer in sunlight. Greenhouse effect is actually a misnomer since heating in the
usual greenhouse is due to the reduction of convection while the greenhouse effect works
by preventing absorbed heat from leaving the structure through radiative transfer. A
greenhouse is built of any material that passes sunlight usually glass or plastic. The sun
warms the ground and contents inside just like the outside and these then warm the air.
Outside the warm air near the surface rises and mixes with cooler air aloft keeping the
temperature lower than inside where the air continues to heat up because it is confined

within the greenhouse.
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